? Tegenstellingen

Het gordijn is ...




Les 2 — het huis ? Tegenstellingen

Het gordijn is ...
N aan

3 licht




Les 2 — het huis 12|37 Tegenstellingen

De televisie is...




Les 2 — het huis 12|37 Tegenstellingen

De televisie is...

2 aan




Les 2 — het huis 12|37 Tegenstellingen

Het is ....
1 dicht

2 beneden
3 donker




Les 2 — het huis 12|37 Tegenstellingen

Het is ....

3 donker




Les 2 — het huis ? Tegenstellingen

Hij loopt ....
- naar boven
2 naar beneden
3 aan




Les 2 — het huis ? Tegenstellingen

Hij loopt ....
I naar boven

2 naar beneden

9 | aan




